ChessBase 10 Ausdruck, Husi, 21.04.2014

| ] Koll,Lukas
B Hammann,Moritz

DVM U12 2013

[Husemann,D]

e f g h

Schwarz am Zuge.
1...a4!
[ 1...b5 2.h3 (2.Kc5 Kxe5 3.Kxb5
d4 4.Kc4 g4 5.fxg4 Ke4d-+) 2...b4
3.a4 bxa3 4.bxa3 a4-+]
2.h3
[2.b4 a3 3.b5 h6 4.h3 h5-+]
[2.b3 a3 3.b4 h6 4.h3 h5 5.b5
h4-+ ]
2...b5 3.b4 axb3 4.axb3 b4 5.Kcb
Kxe5 6.Kxb4 Kd4 7.Ka5 Ke3 8.b4
d4 9.b5 d3 10.b6 d2 11.b7 diD
12.b8D Dal+ 13.Kb6 Db2+ 14.Kc7
Dxb8+ 15.Kxb8 Kxf3

D17
| | Kramnik,V 2784
B Vachier Lagrave,M 2719
FIDE World Cup 2013 (6.2) 27.08.2013

[Husemann,D]

61...Kxf7
62.Ke4?
[62.Sd7! Tf5 (62..Kg6 63.Tg8+
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Kh7 64.Tf8) 63.Tf8+ Kg6 64.Tg8+
Kf7 65.Ke4! (65.5f6? Txf6!=)
65...Tab 66.Tf8+ Kg6 67.Se5+
Kxg5 68.Tf5++- ]
62...Tel+ 63.Kf3 Tfl+ 64.Kg3 Tgl+
65.Kf4 Tfl+ 66.Ke3 Tel+ 67.Kf3
Tfl+ 68.Kg2 Tf5 69.Sh7 Kg6
70.Tb7 Tf4 71.Kg3 Tad 72.Te7
Tg4+ 73.Kf3 Tad 74.Tb7 Th4 75.5f6
Kxg5 76.Sed+ Kf5 77.Te7 Th8
78.Ke3 Td8 79.Tf7+ Ke6 80.Th7
Td1l 81.Sc5+ Kf5 82.Tf7+ Keb
83.Sd3+ Ke6b 84.Ta7 Thl 85.Ke4
Th4+ 86.Sf4+ Kd6 87.Tab+ Kcb
88.Tg6 Kc4 89.Tc6+ Kb5 90.Tcl
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Th8 91.Ke5 Th4 92.Tc8 Thl 93.Se6 |[ | Ligterink,G
Th5+ 94.Kd6 Th6 95.Tcl Kb4 B HortV
96.Kd5 Th5+ 97.Ke4 Th4+ 98.Sf4 Amsterdam 1994
Kb5 99.Ke5 Th8 100.Tc2 Th4 [Husemann,D]
101.Tf2 Kc4 102.Ke4 Th8 103.Tc2+
Kb5 104.Sg6 Thl 105.Se5 Tel+
106.Kd4 Tdl+ 107.Sd3 Kb6 108.Tc3 a b cde f g h
Tbl 109.Kd5 Th5+ 110.Sc5 Tbl
111.Sd7+ Kb5 112.Td3 Th4 113.Se5 | 8 7, %E %7 8 @
Thl 114.Sc4 Kb4 115.Sd2 Th2 d B B B =
116.Kc6 Tc2+ 117.Kb6 Th2 118.Ke6 | § /@/{ W
Tc2+ 119.Kb7 Tc3 120.Td8 Tc5 %% %% =,
121.Se4 Tcd 122.Te8 Tc2 123.Kb6 s 09 , I
Te2 124.Kc6 Tel 125.Sd6 s . 7 /// Na
ey "
1 & & acr
| | Aitbajew %% %% %7/
B Gorlanow W 7 7 /// 1
St. Petersburg 2013 a b ¢ d e f g h
[Husemann,D]
Schwarz am Zuge.
1..Te5+!
a b o de fgn ATol Tod bes=]
8 %///E %% 9@/// E 2 Kd4 g2 3.Tbl Tg5 4.Tgl Tg3!
7w, 8 & | 5.Ke4 Kg5 6.Ke5
a7 07 7 7//6 [ 6.Kd4 Kf4 7.Kd5 Kf3]
g > 6..Kg4 7.Ke4 Kh3 8.Kf4 Kh2
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Weil3 am Zuge.
1.c7
[1.Td6 Ke7]

1...Ke8 2.e6! fxe6 3.Th7 h4 4.Kgl
e5 5.Kf2 Zugzwang a5 6.b3 f4 7.Kf3
1-0




